
Answer Key 3 

1.4: 10, 12, 18, 24, 25, 31, 47, 54, 65, 81, 86  

1.5: 11, 20, 30, 41, 45, 51, 58, 70, 73, 76, 90, 93, 109, 127, 139 

1.4 
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1.5: 11, 20, 30, 41, 45, 51, 58, 70, 73, 76, 90, 93, 109, 127, 139 

11) 
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But note: 2 is not in the domain of either 

the original right or left expressions, so the 

only solution is -4 
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Note it is important to check that 
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Note I approximate because this is a 

measurement. 

 

Also note the negative answer has no 

meaning so 4.24 seconds is the answer 

139) 

The divide by x-1 step is illegitimate since 

x-1=0 

 

 

 

 


